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For the students: - All the Questions are compulsory and carry equal marks.

Q1. Calculate the number of photons, from green light of mercury (A = 4961 A),
required to do one joule of work.

Option A: | 4524.2x1018/m3

Option B: | 2.4961x1018/m3

Option C: | 2.4961/m3

Option D: | 2.4961/m

Q2. Which of the following can be used for the generation of laser pulse?
Option A: | Ruby laser
Option B: | Carbon dioxide laser
Option C: | Helium neon laser
Option D: | Nd- YAG laser

Q3. Which of the following is used in atomic clocks?
Option A: | Laser
Option B: | Quartz
Option C: | Maser
Option D: | Helium

Q4. What is the full form of LASER?
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Option A: | Light Absorbent and Stimulated Emission of Radiations
Option B: | Light Absorbing Solar Energy Resource
Option C: | Light Amplification by Stimulated Emission of Radiations
Option D: | Light Amplification of Singular Emission of Radiations
Q5. How shall a diffraction pattern change when white light is used instead of a
monochromatic light?
Option A: | The pattern will no longer be visible
Option B: | The shape of the pattern will change from hyperbolic to circular
Option C: | The colored pattern will be observed with a white bright fringe at the center
Option D: | The bright and dark fringes will change position
Q6. How many lenses are used in Fraunhofer Diffraction?
Option A: | Two Convex lenses
Option B: | Two Concave lenses
Option C: | One Convex lens
Option D: | No lens used
Q7. In Fresnel diffraction, the relative phase difference between the curved
wavefront is
Option A: | Constant
Option B: | Zero
Option C: | Linearly increasing
Option D: | Non-constant
Q8. Which of the following does not show any interference pattern?
Option A: | Soap bubble
Option B: | Excessively thin film
Option C: | A thick film
Option D: | Wedge Shaped film
Q9. Zero order fringe can be identified using
Option A: | White light
Option B: | Yellow light
Option C: | Achromatic light
Option D: | Monochromatic light
Q10. In Fresnel Diffraction, the incident wavefront is
Option A: | Hyperbolic
Option B: | Linear
Option C: | Spherical
Option D: | Elliptical
Q11. According to stoke’s law, the expression for maxima is: 2utcosr =
Option A: | nA
Option B: | 2nA
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Option C: | (2n+1)A/2
Option D: | (n+1)\/2
Q1l2. In Double Slit Fraunhofer Diffraction, some orders of interference pattern are
missing. It is called
Option A: | Missing Spectra
Option B: | Absent Spectra
Option C: | End Spectra
Option D: | Emission Spectra
Q13. Nanomaterials are the materials with at least one dimension measuring less than
Option A: |1 nm
Option B: | 10 nm
Option C: | 100 nm
Option D: | 1000 nm
Q14. The colour of the nano gold particles is
Option A: | Yellow
Option B: | Orange
Option C: | Red
Option D: | Variable
Q15. Which of the processes of materials was not described as Nanotechnology?
Option A: | Separation
Option B: | Creation
Option C: | Processing
Option D: | Consolidation
Q16. What is the principle of fibre optical communication?
Option A: | Frequency modulation
Option B: | Population inversion
Option C: | Total internal reflection
Option D: | Doppler Effect
Q17. How does the refractive index vary in Graded Index fibre?
Option A: | Tangentially
Option B: | Radially
Option C: | Longitudinally
Option D: | Transversely
Q18. Which of the following is the expression for Lorentz force?
Option A: | gE
Option B: | g (vXB)
Option C: | ma +qE
Option D: | gqE +q (v X B)
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Q19. The velocity of a charged particle to keep moving in the same direction, in a
region where electric and magnetic fields are perpendicular to each other, is
Option A: | E/B
Option B: | B/E

Option C: | E/B + qE/B

Option D: | B/E + gqB/E

Q20. Differential form of Gauss’s law in magneto statics is

Option A: | div B = p/eo

Option B: | divB=0

Option C: | div B =-dB/dT

Option D: | divB = pJ

Q21. By making use of a CRO

Option A: | many characteristics of a signal can be measured

Option B: | only a few characteristics of a signal can be measured

Option C: | no characteristics of a signal can be measured

Option D: | signal can only be displayed

Q22. The amplitude of voltage is given by which of the following relation?

Option A: | Vm = Vp-p2

Option B: | Vm = Vp-p4

OptionC: | Vm =2 xVp-p

Option D: | Vm =4 x Vp-p

Q23. How is frequency related to time period?

Option A: | square proportional

Option B: | not related

Option C: | directly proportional

Option D: | inversely proportional

Q24. Magnetic field can be produced by

Option A: | Conduction current

Option B: | Displacement current

Option C: | Both conduction and displacement current

Option D: | Itis produced naturally

Q25. If a light is incident on a grating with 5000 lines/cm, then the angular separation
of the two lines (5000 A and 5006 A) in first order spectrum is

Option A: | 0.01°

Option B: | 0.02°

Option C: | 0.03°

Option D: | 0.04°
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